CBCS/B.A./B.Sc./Hons./3rd Scm./ECOACOR()ST/Z()22—23

WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester Examination, 2022-23

ECOACOR05T-ECONOMICS (CC5)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. ayfes FMT JIZ K e ‘Z’fﬂm gt e 1
Candidates should answer in their own words oSy dia fcer ORI g3l FET AN N
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and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10
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(a) What is dead-weight loss under monopoly?
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(b) Suppose an investor is concerned about business choice in which there are three
prospects. The returns and probabilities are furnished below:
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Return Probability
Rs. 100 0.2
Rs. 50 0.4
Rs. 25 0.4

What is the expected value of return of this uncertain investment?
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(c) State the weak axiom of revealed preference theory.
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(d) Why supemormal profit cannot exist in long-run for perfectly competitive

market?
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() ‘A firm in a perfectly competitive industry does not enjoy any monopoly power’

— Explain why?
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() What is the shape of a short-run supply curve of a perfectly competitive firm?
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rofit? How it is related to the cost of production?

(g) What is normal p
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2 Answer any four questions from the following: 5x4 =20
e @@ orafe et Ser wies
(a) Discuss the concepts of perceived demand curve and proportional demand curve
in monopolistic competitive market.
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(b) How do you indentify a person as risk-averse, risk-neutral or risk-lover?
I et et FRe-Ra, 3R-Freers 31 IR srewiisee s Fa1 3 ?
(c) What is excess capacity of a firm under monopolistic competition? How can
excess production capacity be decomposed into two parts?
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(d) Explain the social cost of monopoly.
G A PRI AEs 77
(e) Show the short-run equilibrium of a multiplant monopolist.
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3. Answer any fwo questions from the following: 10x2 =20
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() Consider a Cobb-Douglas utility function— u(q;, g,) = qf q;_{ and the budget line
of the consumer is M = p\q, + p»q, -

Derive the demand function for g, and hence show that the Cobb-Douglas
consumer always spends a fixed fraction of income on each good.
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(b) Derive'the long-run equilibrium cfondmlc])n r;)f the ﬁrf{n gndef-perfect competition
by tracing the adjustment process Irom short-run proiit situation.
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(c) Derive the budget line of an investor facing a choice between a risky asset and
risk-free asset using standard deviation as a measure of riskiness, Show tha
equilibrium of a risk-averse person using indifference curve under the '1bov:
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situation.
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(d) Derive the equilibrium of a ‘monopsonist’ assuming perfect competition i gy
e

supp]y side.
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